

RDO SALINAS - ALL DEPT Ship to: 501 EL CAMINO REAL

SALINAS CA 93908

501 EL CAMINO REAL

SALINAS CA 93908

RDO SALINAS - ALL DEPT

RDO Equipment Co. 501 El Camino Real

Salinas, CA 93908 831-424-8036

Fax: 831-424-3127 www.rdoequipment.com **₾ WARNING** Warning: Cancer and

> Reproductive Harm. For more Information go to: www.P65Warnings.ca.gov

Branch

38 - SALINAS, CA

Date 04/19/2023

10:26:53 (O)

Page

Account No. 8036009

Phone No. 8314248036 Estimate³No. 016221

Ship Via

Purchase Order

Tax Exemption Number

Federal ID Number

Salesperson J0A

ESTIMATE EXPIRY DATE: 05/19/2023

SERVICE ESTIMATE - NOT AN INVOICE

****** Segment 01 ******

Stock #: X850469 8370RT 320HP TRACKS TRAC MS #: 1RW8370RTJD918300

Make: JD Model: 8370RT F

Invoice to:

Is to have the following work done

TENSION LINK, RECONDITION ADDITIONAL DESCRIPTION: Add 0.3 for track weight. Raise and support tractor. Relieve track tension. Remove idler wheel. Remove idler hub. Remove link caps. Replace bushings and seals. Assemble in reverse order.

Adjust track.

TY22028

Description Part# Qty <u> Price</u> _ Amount R247174 THRUST RING 4 25.46 101.84 R272388 Bushing 4 35.12 140.48 83.26 333.04 RE247219 SEAL KIT 4 2 12.30

2 R289716 193.06 386.12 Pin

> Labor: 4440.00 Subtotal: 5413.78

973.78

6.15

Parts:

Authorization: _____

****** Segment 02 ******

BULK-HYD-OIL

IDLER HUB, FRONT, R&RRECONDITION with tension link removed

Stocked parts can be returned within 30 days with copy of invoice. Special SIGNATURE order parts \$20.00 and up may be returned within 30 days with copy of invoice. 20% restock charge will apply to all special order parts. All sales are final on special order non-returnable parts. All parts must be new, uninstalled and in original packaging. No returns on electrical components. No refunds on freight charges.



RDO SALINAS - ALL DEPT Ship to: 501 EL CAMINO REAL

SALINAS CA 93908

RDO Equipment Co.

501 El Camino Real Salinas, CA 93908 831-424-8036

Fax: 831-424-3127 www.rdoequipment.com **△ WARNING**

Warning: Cancer and Reproductive Harm.

For more Information go to: www.P65Warnings.ca.gov

Branch

38 - SALINAS, CA

Date 04/19/2023

10:26:53 (O)

Page

Account No. 8036009

Phone No. 8314248036

Parts:

Estimate³No. 016221

Ship Via

Purchase Order

Tax Exemption Number

Federal ID Number

Salesperson

1119.84

J0A

ESTIMATE EXPIRY DATE: 05/19/2023

Invoice to:	RDO	SALINAS -	ALL DEPT
	501	EL CAMINO	REAL

SALINAS CA 93908

SERVICE ESTIMATE - NOT AN INVOICE

Part#	Description	<u>Oty</u>	Price	Amount
RE46684	FITTING PLUG	8	7.81	62.48
RE254401	SEAL	4	200.20	800.80
R254441	O-RING	4	18.39	73.56
R263941	LOCK WASHER	4	33.45	133.80
TY22028	BULK-HYD-OIL	8	6.15	49.20

Labor: 3330.00 Subtotal: 4449.84 Authorization: _

****** Segment 03 ******

J-Link replacement with tension link removed

Part#	Description	<u>Oty</u>	Price	Amount
RE272385	Support	2	963.77	1927.54
R289696	O-Ring	2	5.09	10.18
R273543	Spacer	4	15.18	60.72
19м7789	SCREW	6	1.94	11.64
AT364555	Plate	4	34.30	137.20
R289713	O-Ring	2	9.19	18.38
R565887	Set Screw	4	105.21	420.84
R289709	SEAL	2	27.47	54.94
R272387	Washer	2	33.64	67.28
R272476	Plate	2	219.77	439.54
R272475	Pin	2	584.03	1168.06
19M8011	CAP SCREW	4	1.92	7.68
R289697	Bushing	2	118.78	237.56
MISCELLANEOUS CHARGES:	Description		Price	Amount

FRT

Stocked parts can be returned within 30 days with copy of invoice. Special SIGNATURE order parts \$20.00 and up may be returned within 30 days with copy of invoice. 20% restock charge will apply to all special order parts. All sales are final on special order non-returnable parts. All parts must be new, uninstalled and in original packaging. No returns on electrical components. No refunds on freight charges.



501 El Camino Real Salinas, CA 93908 831-424-8036 Fax: 831-424-3127

RDO Equipment Co.

www.rdoequipment.com

△WARNING Warning: Cancer and

> Reproductive Harm. For more Information go to: www.P65Warnings.ca.gov

Ship to:

Invoice to:

Authorization: _

RDO SALINAS - ALL DEPT 501 EL CAMINO REAL SALINAS CA 93908

RDO SALINAS - ALL DEPT

501 EL CAMINO REAL

SALINAS CA 93908

Branch

38 - SALINAS, CA

Date 04/19/2023

10:26:53 (O)

Account No. 8036009

Phone No. 8314248036 Estimate³No. 016221

Ship Via

Purchase Order

Tax Exemption Number

Federal ID Number

Salesperson J0A

ESTIMATE EXPIRY DATE: 05/19/2023

SERVICE ESTIMATE - NOT AN INVOICE

Parts: 4561.56 Labor: 1480.00

Miscellaneous:

Subtotal:

250.00 6291.56

****** Segment 04 ******

WALKING BEAM CENTER BUSHING, R&R ADDITIONAL DESCRIPTION:

walking beam bushings are worn out and walking beam is leaning back.

Part#	Description	Qty	Price	Amount
19M9749	CAP SCREW	8	26.48	211.84
24M7344	WASHER	28	1.96	54.88
19M9162	CAP SCREW	24	12.74	305.76
RE590186	Bushing	2	2696.00	5392.00
R174942	PIN	1	508.28	508.28
24H1240	WASHER	2	8.27	16.54
R192696	SNAP RING	2	18.94	37.88
т67210	SEAL	2	19.11	38.22
RE161311	BUSHING	1	399.85	399.85
R158196	BUSHING	1	144.74	144.74
R539033	Seal	2	53.37	106.74

Labor: 5328.00 Subtotal: 12544.73

7216.73

Parts:

****** Segment 05 ******

FIELD DIAG

Authorization: ___

ADDITIONAL DESCRIPTION:

both side tracks rubbing on inside lugs adjusted right

Stocked parts can be returned within 30 days with copy of invoice. Special SIGNATURE order parts \$20.00 and up may be returned within 30 days with copy of invoice. 20% restock charge will apply to all special order parts. All sales are final on special order non-returnable parts. All parts must be new, uninstalled and in original packaging. No returns on electrical components. No refunds on freight charges.



Ship to: RDO SALINAS - ALL DEPT

Invoice to:

501 EL CAMINO REAL SALINAS CA 93908

RDO SALINAS - ALL DEPT

501 EL CAMINO REAL

SALINAS CA 93908

RDO Equipment Co. 501 El Camino Real Salinas, CA 93908 831-424-8036

Fax: 831-424-3127 www.rdoequipment.com



For more Information go to: www.P65Warnings.ca.gov

Branch

Account No.

8036009

38 - SALINAS, CA

Date Time 10:26:53 (O)

Phone No. Estimate No. 8314248036 016221

Ship Via Purchase Order

Tax Exemption Number Federal ID Number

Salesperson

Page

J0A

ESTIMATE EXPIRY DATE: 05/19/2023

SERVICE ESTIMATE - NOT AN INVOICE

side with no issues left side adjustment not possible pressure washed all mud and debris from track frame removed j link adjustment bolts tried adjustment tractor does not move to the out side possible idler issue or defective track tractor coming into shop for further left side track issue.

Authorization:	Labor: Subtotal:	1593.15 1593.15
***** Segment 06 *****		
Round trip travel to and from location. ADDITIONAL DESCRIPTION: unit located at the Home ranch serial 1RW8370RTJD918300		
Authorization:	Labor: Subtotal:	276.00 276.00

IN SHOP DIAG CORRECTION:

Checked the front idlers and saw that they have excessive play, need to recondition the Idler hubs and also see that the walking beam bushings are worn out. created estimate.

ADDITIONAL DESCRIPTION:

removed j link adjustment bolts tried adjustment tractor does not move to the out side possible idler issue or defective

track tractor coming into shop for further left side track issue.

Stocked parts can be returned within 30 days with copy of invoice. Special order parts \$20.00 and up may be returned within 30 days with copy of invoice. 20% restock charge will apply to all special order parts. All sales are final on special order non-returnable parts. All parts must be new, uninstalled and in original packaging. No returns on electrical components. No refunds on freight charges.

SIGNATURE



Invoice to:

Authorization: _

RDO SALINAS - ALL DEPT Ship to:

501 EL CAMINO REAL SALINAS CA 93908

RDO SALINAS - ALL DEPT

501 EL CAMINO REAL

SALINAS CA 93908

RDO Equipment Co. 501 El Camino Real

Salinas, CA 93908 831-424-8036

Fax: 831-424-3127 www.rdoequipment.com



Warning: Cancer and Reproductive Harm.

> For more Information go to: www.P65Warnings.ca.gov

Branch

38 - SALINAS, CA

Date 04/19/2023

10:26:53 (O) Phone No.

Estimate³No.

8036009

Account No.

8314248036

016221

Page

Ship Via

Purchase Order

Tax Exemption Number

Federal ID Number

Salesperson

J0A

ESTIMATE EXPIRY DATE: 05/19/2023

SERVICE ESTIMATE - NOT AN INVOICE

Labor: 555.00 Subtotal: 555.00

> Parts: 13871.91 17002.15 Labor:

Miscellaneous: 250.00

TOTAL: 31124.06

Stocked parts can be returned within 30 days with copy of invoice. Special order parts \$20.00 and up may be returned within 30 days with copy of invoice. 20% restock charge will apply to all special order parts. All sales are final on special order non-returnable parts. All parts must be new, uninstalled and in original packaging. No returns on electrical components. No refunds on freight charges.

SIGNATURE